S & BB IR T T Bt 2N 1 AR

(T4 5] « AARND )

F44E5 A K A BUE
HT 4 H A0 (58) A0 (&) UNEINGY!
H #HT 478 397 409 806
SRHT 1,703 1,583 1,678 3,261
JHET 940 866 809 1,675
== 1T 1,266 1,019 1,064 2,083
FFHT 1,717 1, 600 1,671 3,271
JTHT 1,635 1,692 1,829 3,521
i 849 948 999 1,947
PRl 614 524 573 1,097
At ZEHT 880 850 893 1,743
BT 673 617 613 1,230
AR 1T A 864 841 846 1, 687
HARET2 TH 801 800 755 1,555
PEFTIR 1 T H 2, 140 1,832 1,983 3,815
VEETIR 2 T H 977 875 930 1,805
FRET 1T H 1,599 1,374 1,693 3, 067
T2 TH 1,243 949 1,123 2,072
kAT 3 T H 1, 427 1,451 1,524 2,975
HIT4TH 2,825 2,670 2, 879 5, 549
SRHET 924 889 929 1,818
HRA: BT 1,225 1,163 1, 269 2,432
EFIT1 TH 519 445 495 940
EJFET2TH 778 855 813 1,668
KT 3 T H 714 723 699 1,422
EJFET4TH 215 218 207 425
EJFERT5 T H 478 466 503 969
AbFTIR AT 1,099 1,142 1,078 2, 220
[ B AT 1, 569 1,672 1,787 3, 459
HFES 1,213 1,282 1,314 2, 596
E1TH 428 464 497 961
tE2TH 629 741 748 1,489
tE3TH 478 542 530 1,072
tE4TH 1,703 514 487 1,001
FAZENT 940 1,037 1,098 2,135
=L 1,266 729 731 1, 460




fop & AT R ET T Bl i 2 A B

=

(T4 5] « AARND )

F44E5 A K A BUE
HT 4 H Ao () A0 (&) UNEINGY!
Z 5 LHAT 1,717 884 1,048 1,932
ERNET 1,635 894 930 1,824
KETHH 849 98 158 256
[icg gzl 614 893 891 1,784
HOHTHHT 880 1,093 1,079 2,172
KFEHE 673 2,051 2,037 4,088
KFFRIL 864 1,559 1,645 3,204
Al - /N 801 6, 405 6,372 12,777
KT TNLEm 2, 140 5, 406 5,392 10, 798
Kb Rk 977 4, 595 4, 655 9, 250
HEH 1,599 766 800 1,566
[EREa 1,243 398 385 783
FAfE S 1,427 1,342 1,464 2, 806
EoE1TH 2,825 537 519 1,056
BEo=2TH 924 662 657 1,319
RFIK 1,225 5, 065 5,120 10, 185
KFEFIE 519 3,693 3, 698 7,391
KFA 778 11, 686 12, 197 23,883
K7 Eilin 714 2,122 2, 092 4,214
/INFFRET1 TH 215 2, 335 2, 685 5, 020
/INFFRET2 TH 478 1,232 1,185 2, 417
/INEIERT 3 T H 1,099 2,233 2,485 4,718
/INFFRET4 TH 1, 569 1,491 1,511 3, 002
KREFE 1,213 1,189 1,171 2, 360
KFEFE 428 2, 606 2,705 5,311
KFAH A A 629 624 722 1, 346
== = 836 984 987 1,971
KFEF 77 111 91 202
1 T H 913 1,002 1,045 2,047
2 TH 974 1,090 1,119 2,209
B3 T H 869 792 899 1, 691
4 TH 676 707 789 1, 496
w5 TH 782 802 872 1,674
KFRZT 344 331 353 684




S & BB IR T T Bt 2N 1 AR

(T4 5] « AARND )

1445 H K H BIE
4 LR AR (FB) ¢ AA & Al GH
KT 205 254 228 182
KPR 789 955 966 1,921
RF-H HH 145 192 181 373
KFBTH 147 179 158 337
KFHH 17 22 19 41
KK 445 526 498 1,024
Py 1 TH 1,068 1,037 1,135 2, 172
il E2TH 1,133 1, 167 1,217 2,384
=M1 TH 937 1,032 1,083 2,115
M2 TH 344 324 378 702
3 TH 832 867 890 1,757
A TH 1,206 1, 153 1,185 2,338
HRLAr 1 TR 1,626 1,500 1,624 3,124
Bkl 2 TH 1,413 1,557 1,549 3,106
WL B3 T H 780 836 913 1,749
Bl 4 TH 348 205 305 510
WL E5 T H 169 157 179 336
w6 T H 588 489 580 1,069
PRI 1 T H 1,067 1,121 1,099 2,220
w2 TH 326 348 377 725
farE1TH 1,474 1,436 1,401 2,837
My 2TH 678 745 744 1,489
M3 TH 854 848 845 1, 693
#1TH 280 354 313 667
H2TH 266 318 328 646
#3TH 1, 404 1, 431 1,456 2, 887
= &1TH 371 452 408 860
= E2TH 188 225 232 457
= &3TH 273 345 325 670
=E4TH 426 485 463 948
—&5TH 664 735 702 1,437
WA 340 411 406 817
| 215 272 273 545
WA2TH 918 900 880 1,780




fop & AT R ET T Bl i 2 A B

=

(T4 5] « AARND )

AFN44E5 A K B BITE
HT 4 % A (59) AR (%) UNEGD)
WA3STH , 109 1, 435 1, 550 2,985
WAR4TH 134 109 135 244
WA7TH 340 363 377 740
WA TH , 527 1,188 1,411 2, 599
FREAR1ITH , 704 1,876 1,913 3,789
FRER2TH 912 985 973 1,958
1 TH 232 264 274 538
2 TH 452 558 588 1,146
It 3TH ,017 1,132 1,164 2, 296
4 TH 60 81 72 153
e [ B 349 424 395 819
bR T 637 587 654 1,241
AT IR 585 702 721 1,423
WETIR1 T H , 488 1,493 1,323 2,816
WATIR 2 T H , 329 2, 633 2, 425 5, 058
WRETIR 3 T H , 529 1,622 1,453 3,075
WATIR 4 T H 441 504 453 957
WATIRS TH 809 788 741 1,529
WETRAIE 1 T H ,316 1,433 1,311 2,744
WATRFIME 2 T H ,294 1,341 1,321 2, 662
WHTRAIE 3 T H 858 967 887 1,854
<TDEHE1ITH 453 301 389 690
<TDEH2TH 682 649 579 1,228
<TDEHE3ITH 866 735 813 1,548
TER1ITH 143 148 142 290
TER2TH 415 540 504 1,044
HER 3 T H 557 608 601 1,209
TER4TH 602 675 658 1,333
MMRE1TH 679 763 796 1,559
MMRE2TH 711 785 853 1,638
INFFRFE1TH 554 625 639 1,314
INFEFRFE 2 TH 550 583 624 1,207
INFIRFE 3 TH 900 1,035 981 2,016
INFEIRFE A4 TH 776 970 952 1,922




S & BB IR T T Bt 2N 1 AR

(T4 5] « AARND )

1445 H K H BIE
HT 4 W A (59) AR (&) AR GH
INFHER 5 T H 540 755 686 1,441
/INFFERG 6 T H 610 615 622 1,237
/INFFEET 5 T H 567 584 570 1, 154
WNFRRTET 1 T H 747 764 730 1,494
/WNFfRTET 2 T H 559 620 592 1,212
/INEFECHT S TH 803 996 1,005 2,001
JEEFHHET 1 T H 83 103 111 214
JeFFHHT 2 T H 28 36 24 60
¥ 1 TH 266 302 301 603
¥ 2 TH 155 183 193 376
¥ 3 TH 191 141 202 343
B 1 TH 103 124 125 249
kB2 TH 147 188 184 372
B3 TH 144 169 180 349
EFH1THE 815 817 798 1,615
EFH2TH 1,237 1,364 1,316 2,680
EHFIE3ITH 1,397 1,567 1,568 3,135
EHFI4TH 1,325 1,457 1, 550 3,007
EHFIESTH 1,661 1,850 1,883 3,733
INEEE 856 980 953 1,933




